
PUZZLE OF THE WEEK 

SOLUTION 

River Crossing 
 
Three travellers need to cross a river.  The first traveller (orange) has two bags. The second 
traveller (green) has one bag.  The third traveller (pink) has no bags. 
Rules: 

1. The raft can hold either two travellers OR one traveller and one bag 
2. No traveller should be left alone with another traveller's bag 

 

 
The orange passenger goes across with one of his bags first.  He leaves his first bag on the other side and returns to 
the start to pick up his second bag.  He delivers his second bag to the other side and returns.  Now, he picks up the 
pink passenger and they make their way across.  The pink passenger leaves the orange passenger on the other side 
and returns to the starting point.  The pink passenger and the green passenger cross the rivre together.  The pink 
passenger stays and the green passenger returns to finally pick up his bag and cross the river. 

 
Be sure to check the next newsletter to see the solution!  If you have questions about or 

suggestions for the puzzle of the week, let Ms. Rush know! 

 
Special thanks to puzzle-world.com for the puzzle 


